Empirical Formula:

Molecular Formula:  

x = molecular formula mass 

      Empirical formula mass

(Empirical formula) x  = molecular formula

Practice:  

1.  A compound was found to have 63.52 % iron and 36.48 % Sulfur.  What is the empirical formula?
2.  Find the empirical formula of a compound that has 26.56% potassium, 35.41% chromium, and the remainder Oxygen. 
3.  Analysis of 20.0 g of a compound containing only calcium and bromine indicates that 4.00 g of calcium are present.  What is the empirical formula of the compound?
4.  The empirical formula of a compound of phosphorus and oxygen was found to be P2O5.  Experimentation shows the molar mass of this compound was 283.89 g / mol.  What is the compounds molecular formula?

5. Determine the molecular formula of the compound with an empirical formula of CH and a formula mass of 78.11 g

6. A sample of a compound with a formula mass of 34.00 g is found to consist of 0.44 g of H and 6.92 g O.  Find the molecular formula.  
7. Determine the % composition for the following compounds:


a. H in ammonium nitrate

b. K in potassium phosphate


c. C in acetic acid


d. O in diphosphorous pentoxide


e. Ba in barium chlorate


f. Mn in manganese (III) oxide

8. Determine the empirical formula of the following:


a. 52.6% Ni, 21.9% C, 25.5% N


b. 48.6% C, 8.16% H, 43.2% O


c. 21.8% Mg, 27.9% P, 50.3% O


d. 46.3% Li, 53.7% O


e. 21.8% Mg, 27.9% P, 50.3% O
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